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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I",
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forMG_O
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BYiE) | GEBAK () | ERE(EH/4R) | EREE (/R [ XS R

06:30 382 130.0 0.055 F|  FEAe06:30 KEFEFE (RAMEFESE)
07:25 382 130.0 0. 055 F|  FuHR07:25 KENFRF (FRAMERE)
08:45 382 130.0 0. 055 /| FHAe08:45 KRENFZF (KRFAIEEES)
09:55 382 130.0 0. 055 M|  FHAe09:55 KRENFZF (RAAMEEE)
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23] 4202.0 (11%) 1430.0 EIFKEC: 1982.0, PH: 6.5
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MG

BflE) | GEBRAK () | ERE(EA/K | EREE(B/R) [ XS ERE

06:10 300 100.0 0. 042 Sl Ri&@06:10 KENFZEF (GRAMEEEE)
07:05 300 100.0 0. 042 Bl Ri&@07:05 KEFZEF (RAEEE)
07:45 300 100.0 0. 042 & {BRi%e07:45 REIEF (REERSR)
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12:50 300 100.0 0. 042 sl Ri&@12:50 KEIZEF (GRAEEE)
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21t 4800.0 (16)%) 1600. 0 32 U3KEC: 1872.0, PH: 6.5
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MG

BYE) | GEBRAK ) | ERE(EA/K | EREE (/R [ XS R

08:00 301 130.0 0.055 =  {BRi%@08:00 KRHFEF (KREAEZRE)
08:50 301 130.0 0.055 = {Ri%@08:50 KREFEF (KREAFZHE)
09:50 301 130.0 0. 055 = 1Ri%@09:50 REEF (REAEZEBE)
10:55 301 130.0 0. 055 =  {Ri%@10:55 KRHEF (REEZERE)
11:45 301 130.0 0. 055 5| Ri&e11:45 KHEF RAMERESE)
12:35 301 130.0 0. 055 = Rige12:35 RHEF GGREAZBE)
13:25 301 130.0 0. 055 =l Rige13:25 KHIEF (RAERESE)
14:20 301 130.0 0. 055 B Ri%e14:20 RHEF CRAMEESE)
15:10 301 130.0 0. 055 = Ri%e15:10 REEF CGREAFZRE)
16:10 301 130.0 0. 055 5| 1BRi%e16:10 REEEF (KEERSR)
21t]3010.0 (10)%) 1300.0 32 FE%EC: 1818.0, PH: 6.5
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MG

BYiE) | GEBAK () | ERE(EH/4R) | EREE (/R [ XS R

07:20 301 130.0 0. 055 g  {BRi%e07:20 RHEF (KREEZERR)
08:10 301 130.0 0. 055 E  {Ri12008:10 KREFZEF CGRAMEREEE)
09:20 301 130.0 0. 055 E|  {Ri8009:20 KENFE/F (RFAMERER)
10:25 301 130.0 0. 055 s  BRi%e10:25 KRHEF (REERR)
11:20 301 130.0 0. 055 = BRige11:20 RHEF (KREAEZERE)
12:10 301 130.0 0.055 Bl Ri&@12:10 KEHIEF (RAEEE)
13:00 301 130.0 0. 055 &  BRi%@13:00 KRHEF (REEZERSR)
13:50 301 130.0 0. 055 = Ri%@13:50 RHAEF (KREAEZERE)
14:45 301 130.0 0. 055 El  1Rige14:45 KREIEF (GRFAEREE)
15:40 301 130.0 0. 055 E|  {BRi%@15:40 KRHEIEF (REEZERR)
16:55 301 130.0 0. 055 =  Ri%@16:55 RHEEF (KREAEZERE)
23] 3311.0 (112%) 1430.0 3E8FFHEC: 1764.0, PH: 6.5
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117.0), FIREKRRFBERE

ERGER R R IEFE R Y (300 vs 333.0))
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BYE) | GEBRAK ) | ERE(EA/K | EREE (/R [ XS R

06:30 300 120.0 0.05 =] {Ri18006:30 KNI/ (REERSE)
07:30 300 120.0 0.05 5| 1BRi%e07:30 RHFIEF (KAERE)
09:05 300 120.0 0. 05 FH| {BRi%@09:05 KEFEF (RAEESE)
10:05 300 120.0 0.05 PR {Ri%@10:05 KREIEHF (RAKLESR)
11:05 300 120.0 0.05 FA| {RRi%@11:05 KRFFEF (RAERSE)
12:15 300 120.0 0. 05 PA| {RiZ@12:15 KRFEF (RAEFES)
13:15 300 120.0 0.05 (=] 1BRig@13:15 KEEF (RAFERHE)
14:05 300 120.0 0.05 [Z=| (Ri%@14:05 KEIEF CGRAMKESE)
15:30 300 120.0 0.05 [Z=| 1Ri%015:30 KREEF (RAFERSE)
17:15 300 120.0 0.05 (=] Bige17:15 KEEF (RAFEHE)
211] 3000.0 (10)%) 1200.0 EPUHKEC: 1786.0, PH: 6.5

FORGEBRIR LRy (0.32 vs 0.38), AIREE E ARNESEEREIKELRE

ERINSLPRIERE114.0 ml.

large discrepency for begining water status (162:5.0), set to 162 ml.
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